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g% —/E :

NO.1

Describe the most important decision that you have ever made
NO.2

IREEARIFEERAY

NO.3

1Imagine the situation where you can’ t use computer or have no access to
internet for a month. How will your life be different? Use details and examples to
explain.

NO.4

Please choose one of the following transportations that you consider to be most
enjoyable.

Bicycle, automobile, train
NO.5

FEREAIANRS | RRIDRAFE  F=MEAEKRT | RERE
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NO.6

If you can have a part-time job at the university what position would you choose? A
lab assistant, a campus tour guide or a library assistant? Why?

NO.7

NE—IUREEF INEZHBEIRBIRE (IZREHHGF )
NO.8

(B HEMRFROMBA , =i%—?

low cost

good weather

various activities

NO.9

NRFRAGE—FEARR | (FREMH 4  BABSIE ?RFELRE?F—NCAFT
IHIREFESLIOE | FOAYEHID) LiRAIIASIE.

NO.10
NERBIHHIR—IRIRr (REIEERPRE
NO.11

R—HFEETHEMHBERENE | AR —MRATARICE.
NO.12

Describe a person whom you would like to spend time with. Explain why you would
like to spend time with this person.

NO.13
wealth, education, xxx = PMNE—NMRIRATLAREE
NO.14

Which challenge in the list do you think is the most difficulties for the university
students? Being far away from families, finding time to relax, making new friends.

NO.15

B, DR, PR AREREEBFEAEE?
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NO.16

KRIRAVIRE | KTF— I FFERSRIREVIREERY characteristic & component
NO.17

In your opinion, what are some important characteristics of a good school?
NO.18

SRBEEMERT SRR

O/ :
NO.1

Do you agree or disagree with the following statement? All students should be
required to study art and music in secondary school. Use specific reasons to
support your answer.

NO.2
The best lesson we can learn is through making mistake. Agree or disagree?
NO.3

Do you agree or disagree, in the future, people will read fewer books than they do
today.

NO.4
FENZHERBRERILUNEE L IRERE CERFFN LIE?
NO.5

Some people speak out in class, others prefer to listen and quietly observe. Which
do you think leads to greater success in school? Why?

NO.6
RIAERFEE 2RSS — S ?
NO.7

IRBABFAEMNIZ focus on study BRRAZIESFHAIE part —time  job .
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0.8

BHEEBUIREEEHAKRFRE GLE take a break, (RRIEFH, PRAEH

zZ

0.9
FEXERZSZGAIEIN BEIREERAIZ]D.
NO.10

Do you agree or disagree with the following statement? Students should always
study in quiet places.

NO.11
Which one do you prefer, to game indoors or to game outdoors?
NO.12

ANR1HRI%E_E—T5R for fun , which one do you choose ? art class , science class [
s

NO.13
BAZZORZE, v, BAZRRLELNZ, (REIRW?
NO.14

Do you agree or disagree that to be successful, a person should study in the

university?
NO.15

BAZEOBIE, v, BAZELE S, (REWREH?

NO.16
IR IR R R E SRR
NO.17

Some students prefer to study in a library. Others prefer to study at home or in
dormitories. Which way do you prefer and why? Include reasons and details in your
response.

NO.18

group work#lwork independentEZXRHA ?
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OiEsE=/ :
NO.1

FRLE T —MEFHI—IRE art (HAIRFARR—FHIRIR |, IR0 2 paperSB4ERAT (the
man is against this for the following reasons) , EFmA=R#EIEIE(don't feel like
being pressed to do something) , ;&AEHTIE.

NO.2

Proposal: Library should install storage lockers. The lockers can help students to
keep the books so that they don’ t have to take the books from library to their
dorms. The library can pay for the lockers by charging fees from students.

Conversation: The man thinks it s a bad idea.

DIt is very likely that people will lock books in their lockers without checking them
out, and no one will know. They can keep the books as long as they want. Like, if a
student locks 20 books in his locker, no one will know where those books are.

2)Students like himself don’ t have extra money to pay for the fees. They already
have many fees need to be paid. If only a few students are willing to pay and only
these people can take advantage of this plan, the university should not carry out it.

Shortly summarize the proposal and state the student’ s opinion of this proposal.
NO.3

— AN NEAIE |, waid a few students’  art works were chosen f£—) art
exhibit FEH ; B4 sounds great, so you are one of them ; T4IRER , (BRITFE
T, WBAYEBIREIAK | is a 3-meter canvas, SBHER LAY limited exhibiting space.
BARERNG ? 4R |, X8 | I RERLEFKEKRT space, because that will be unfair
for other students. #&EiR , BERATLUEFKA—E older painting ZXEH (one
suggestion ), which is smaller B4R BTLAN ; 22455 , (E2BBIEEREFABIER , ¥
A9 technique has improved a lot since then, T ABBIEEIFABEAIIECAVE LK SB4A0
BBEAR draw a new one by the next week ( 884 suggestion ); Z&IRESCHATLL ,
(BEFHEIFE busy, 5 a couple of exams coming.

NO.4

FRENGEZELEFRATEREITE  LERE  F—ALk , TEREFRIMREA
ZHIEHR |, IFHEELESEFRIFA line , AN SERARIREZE X R
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NO.5

competence RUFMNER consicous #1 unconscious AT typing E{EAMFIFiRBBIE
conscious PHER LUHINIFFASS) typing paper fthihRe ST HEEFMRGERT it
REI NS TREAFEEEREHERESE MUASHNERMEMI TE—RXERE BZH0
MHEAUERBEEERD. £ unconscious stage AMiTEBFHINNBCEZETEF R TIXIH
Be LI BRES®  BE—OUFA i TFEETRmEE B TFENEERZ
XiE (ERXFHHNERMEMEF T FRIRMRICAERBES TREBEMEILR summerize
BIMMHEARER B I ARG 7B =AY,

NO.6

FelhiE , RBREINES premedical school ISE—EFZ4E | iH TES—FE X KERREL
Z/IMSFRii volunteer work, [REBAIEAS : 1) wILAHE(IER AT ISTIREETR
procedure 2 ) premedical ZAFEPUFEARIERMELS) , XA IENFAI LAARHBAR
8K, SAEMDAFIIXMTIS | sam BXMNERENZE | AN  EXEXENA—ER
E—ENFE |, ERMATHR prededical school 89 structure , EJXE preclinical 55
clinical BRIz , tEI1EEF—LEMIGREFFNIR , /9 medical school ZJ#iEs |, B
L X ERRAIEST procedure EEFNMEIAFEIAERX , BIUFMBAIEITERIE medical
school , FTLAAER,

NO.7
(iBA] EFRLHHRE internship RUERI , ZiLEFHRFERTISM 3 NERIES.
(1M=] LEFE.
(23] (1] FLLZEENEE ST EERHE handle .
(2] SHRWARE |, BREGEEIRIG | 3 MNRRIEIARERX focus £
FRIR,

RS 2:

FRERFRATRIFTEF A SN capital hospital SL3] internship EEF4EREEFEES
LHAFRAVERN |, ERXANEIEESRATERASHNEIZENEHINRNES. I
NP ZERE. BAXENSES—AEA LAt SIRENRBSES , FETLESEE
AXFER RIS I P EH AR T e BEINRLAERE RENEX NI, FTEF
DAARFIRIEENR , LEANNEFZFEAKHRESREE | I FREINE ST =
NZ7ElER

NO.8
[ FRORELFEEAF AR — LSRR, FERFSHERY.
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FIRIEH 1. FETSCERE—TEFRIEMTAFESES, HUROAILAREXLEREE
HEBBAShE, HMERESHNIR

FRIEH 2 FETRSCNHER— LR LA ZRRIFERIER, MBI, |32
053
077 BBAERIER:

1): KEHZETEHERELRD, B TIEEIERRES) AT EToiX L
FHEESS. M—B5ARk, FFEME struggle to catch up, BEIAEA rush, L5585 skip
YE, DEEER

2): FEARSILNEF, fE(IEEMRPIEBEAYIEM, such as some cool places to
hang out.

7

NO.9

Passage —"MletterxF# F R improvement proposal. —EEZEEZIK power
plug. ZE2EEIZFTEI.

Conversation: BEAFEEXMNEIN., F—&tiRIERSFEEEElaptop. ET/MECHIS
F , tfttislaptop X R (BIRET , kA Zlpower plug, BTRIZFE. F_KEF
4B rIReiRESSRkassignment, FEFTEN,

NO.10

reading:

&R complaint letter , Mary (+ARIFEREFRARMIZIBAE read poetry.
1 : few students attend.

2 R#E , FERLUEEBIEXRME CD

74 disagree : 1. 22455 advertising 2>, FRLUSBZA XL | FIRRBOZM—LE poster E on
the newspaper g¢# in class, library.

2 listening to CD is different from the real people reading it. because when people
read it, we can have eye contact, watch the reader's body language, and share the
experience with other people(audience).

NO.11
(FRuER0] -
FIRREKE senior literature major student fEEENEIE—FS research thesis,

gF4k 1 : improve their research skills;
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1Fhb 2 ERIBLE TN FEIETE— advisor, encourage them to communicate with the

advisors,
[FATE]  BEERILITR.

B 1 : SPATAIE X thesis #RLLEE , FAZEIZRA , EBIEENEEENSEREE , s
NMEBE—RE< research thesis 1RiF.

B 2 . §MNFPEEE thesis FIARHETILED advisor I8 , BHIEXHARE , REREH—
FERER thesis, IXFELLZHISIMREFAEICNE)LA comment IFRZE,

Question : Explain the man’ s opinion towards the school announcement and why
he holds that opinion.

NO.12

EBERBER , SFPRES. REFESEEBESERR LESREZHMEILER
RER, FERXMNERFER 1. BEFSEMRREATLRERNS 2. REAZIHZ
FRBELNAFTED | IRINESFBERIEER.

—NEHITBIE— hiking club , (BEEME NS, 29— potential Y partner 89
HESFIfthA—F. tbBSBMAR—EEAXIHEREE |, it partner EEEHERNA , HH
REANERFEIAF. MREESHENE , AEAHGTAEEFE NSNS HFNTE
T A REEXBEERFIRIBRIAGERIRIRE SEtRIR MR,

NO.13
Passage:

A student wrote a letter to history department to purpose regular meeting for all
students and professors monthly. .Two reasons,

Able for student to ask questions they about courses and know special events
happening in the department

Getting to know each other and build a better sense of community
Conversation:
The student disagreed with the proposal in the letter.

It is not necessary to have a regular meeting for special events because of an
already existed informative department website. Students can check the upcoming
seminars, activities and classes. And if you need to know more information, you

can stop by the departmental office for more details.

Organized in such a formal form, the conference is too serious to help get to know
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each other. They' Il only come with special purpose to discuss. We shall better
have other social activities in a more relaxed and casual setting so people will have
better chances to connect.

NO.15

I5i5E : proposal : school should not allow laptop in the class (reasonl : distracts
other people’'s minds , reason2 : notes can be written down with pens and papers )

iE : disagree - LEZ4EEMRFAT , BIZHNEFREBSERHN , HEXBEX
SRNERIIMER 2. FIFLUEBRR, LB , EiCHMICERBLBIHAZT
NO.16

—IHESEREAEGE Community Service, By 1 FAERRGE REEEECUSRAV
X 2 2EXTATERRSE

THRY: 1 RZ2AMEERAXNRE A IRXANFRE, HIIERSS5HXIER), XHEHFBE
FHEILARRIAEEE RS 2 writer makes a hasty generalization. FASEALZAIAE,
SINTXNMRE B, EREE, FrLARARENXE.

NO.17

FHERIRE N ZFEBSEFRARME—MER |, INIMNIZERAKRERZGINES—NFHE |, 1K
BWARMIRASE LN LRIRESN , ttA2nE> REIRNERER GG FAER , fit
VRS ESEIEMBRCWILE , SMUEDD |, JRE) , XN 2B ASBEERIEN |, B

T KEBXAESE) , SEHT AN ROB MIBBRRINIT | BUEESMEERRLUS | SRR
NES | ININEHIECE TG 28 | FMRERE— Si2s | RS RN
SRR DB MRIFIE | (BEFRALERATE AL,

NO.18

[Z580] :announcement ZRTHHIZESS library expansion FBEFIEZHAY student
center BU&RE new library , Mifj increase library space, {74t 1. BEESHZEIENE
%9 shelves, FHEZEIK materials, 4t 2. BEHESZ RS , IEFEREZMSBES.

[(FESE] : BERX. EH 1. FREZA technology FERMAET ZEBEUTE
space , tbaNEEFHTIRERL electronic copy fEFZEIRRKE I TETIE. A 2. %]
ZZ student center BY , RABEEERIE, ERANZEFORESHFEBITHED,

hRAZ
Aot , BRERER , 1 HFELUE student center ZIRNET BEREHEFP
28| ZITEAAR T L.
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B/ ISR ERERIERAESH space I8, ARFHKRRT | HEZS space 74F , 2
RIEH  ERERETLURBR TP | B , BBRLL shelf SE9EH/NES T, BT8R
AR AB student center IFEMBE , FIEIEA xx , BIRARY space , BILAFEAPERLL R
¥, XERFNATLRFREELESES |, XEEBIEHMEE S shelf

CiESBMRE
NO.1

FE (EIIREP | LIBIEIRIRAENEREIRIRAERER , 297 :Negative transfer,
Positive transfer.

W73 - BuZH 51481 - Positive transfer. 2 THIZECHIAIF. NIHEFEINE , 1EBE
# RERE. BRASTEIF RERS 158, RHelpful, Negative transfer
HTHIRIBRINGITF. LRIRSESRIER , IR T AXEESE1E , FKMmovie actor , 7F
BEXET  (BIRREKXRE. Anegative transfer.

NO.2
IR specialization B9AE4L (advantages and disadvantages)
NO.3

4.Seagoing fish: live in freshwater when young and migrate to water contains
higher density of salt to increase survival rate.

Lecture:

A good example of seagoing fish is a kind of Salmon in Japan. Live in the river when
they are young (babies and hatchers) until grow to full size, because they’ re
vulnerable when young and there’ re less big fish (predators) in the river. While
after mature, they migrate to oceans where they can find more food. Now they’ re
less vulnerable and need more food. Ocean provides more kinds of fish for them to
eat than in the river. They can eat more and grow stronger. In the end they go back
to rivers to breed their babies.

Use the example in the lecture to explain the concept of seagoing fish.
NO.4

Reading:

Professor evaluation

XA student BT letter 48187575 EBRERES professor evaluation which is carried out

R T e S http://toefl.xdf.cn/



11

at the end of every class,f9/5=,. ZHIH evaluate Z/SEEHUIESECE , AFEELATFHE ;
FRLAZE4E propose to put the evaluations online. BF/MNMF4LL : 1. Professors will get
more motivated to improve his teaching skills if he knows that the evaluations will
go public. 2. FAWATLUETIXLFE#E more informed decision as to which
course to take.

Listening:

BALZAEXE B  BEREFAIN, L24E S —REARTF. BUZEE feel not happy
about his course being publicly criticized , fiA<& take it seriously XLt evaluation
A% influence By Teaching skill. B4R , (BEDFA(IRANE RIS, 4
Wt XELEREFfE, The evaluations are usually £ the end of the last class 27,
RZZ4#EB in a hurry to leave , FfLAARS take the evaluation seriously , BALIR—
Lt specific FIEERIY,

NO.5

—MAEITH  IRAMHEIREBREEN  BUNRBERARFSHNIEHN SmMake mistake.
Prof. 27— 1BCHGIF , it —XIBEEEcafeteria, BEBRSEENY. (tHBME
ERINEZR T , Bcafeteria AREZ |, (HAAZRIREEER. BRERANSENEEUY
fERERIEK T . tAIERE. EEFIEaNwoman FLBE E Acafeteria ARZ | it
AHEfSprof.

NO.6
Tz , W—MTURTHY |, BRI | LOIESHeeRTh |, SERIRATRAZ |

—PMEENATE—MELSZINST  EftINBIeT BB s —REE | SREFTIGIER |,
B8R . SEHIRAEERRR SN

NO.7

ZMHIERR—FMER | ttildeer IERMEERIZNIF , tSBERER | BINEETH
MET  BEERED , X ENSRIA BIRERIYASRE

NO.8

TEELRNIZEA EEECHERIRE TR RIERMIMRRDE —RITEE BEX
HRNEAIRE BRI EERIESH MARIIRIFEREIESHI F1 solution &t
RERE=ERNE BREERERE DRMERRAIRETEEREF A5, [WRE—
MERTTERIFHE R RAYERE,

NO.9

producer service , M3, BETLUEEMEIEEECH , & EFIER S FRELIEB
DHMBEBIAM , XFEFMHE, — N IR | RBRRTTEE , —THREFRECH , B1F
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accounting B4 , FRKEIIE accounting LT RKERIE , BBRZEHE  MIMLE
accounting A8 , XHtEiSE S T T E CEVFIEKNIET.

NO.10

[i#EE=ERR] 1528 sociology #AY diversion HYHZAR,

[18X6BIF] professor H T MilF. BT H EBERNMATTIEXTFEBFREEARAE
B, —PMARUEHREARE. F—MNARBRAESHFEZT  #TRE6F , BNERR
MAREGEE . ERREARBEN. XFE diversion AYIFLL,

0 N

HEERE diversion I, #IRLENMFIF. B A fl BITICRBEZTILENR , FER
B RERBEESERLARMNER. A RARE , 2HEMAITET financial statistics f1f5
HEAFH budget RELSHT AREATERIZ. B IANABRINIZE (B | mEk/ i
RAIRREBE LI, BEMINTKLRTFE  MRETAEMBARERT |, Al
ELFAEREELERR. RE  ARIRELLT B, HAKKHE B FAAANETFSSAR
5|Mfsic 7 $AYiala,

NO.11
FHE : MENB—FEAER, FREHTEN, RENET 2 FhkE

010 HEEN S BIZGIF N BIX R E—FFHEN B T — AL SARRERINE
cover rubber, make it yellow, ZMERERER, IREEEXMEERRESULE soft,
smooth; B _FFHEIRAIEIEAREE, & factory manufactured, ;&BLR13{FHT
modification, just stay as it usually looks like. FEELEASRIGFE

NO.12
Reading:
Topic: Human Commensals

Some animals extinct because of humans’ presence, but others benefit from it.
The phenomenon of animals benefiting from people’ s presence is called Human
Commensals. Reasons, their needs are met with people’ s presence and they take
advantage of the resources from human.

Conversation:

The professor gave two examples of birds to demonstrate the concept of Human
Commensals.

Dove. They build their nest high in the building or under the roof. Because they are
not aggressive but they need to protect their babies from predators, the nest high
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in the building help them better protect their kids.

Crowns. Crowns come to the campus more often than ever for food. The food left
from dining hall and students’ wasted food afford them with great supply of food.
They can pick them up easily and it helps them grow and reproduce.

NO.13

VHEE © VIR R, 7B, RALI—MEEAR. ATHIEAREZ TER | 43
WEHEER FR—FMCEIR, BTFXMMUCEYR  EEEUEE. XTERREEXM
THRVAIEE A HA5E,

NO.14
i« FTARERRE LIEARAEARRANLT |, ERLEREMRE.

iE - fIF : 77, #rleER. ARKERNDEITFESRK  TRMERE. XFEF
BEBANDYT , LR EEREMRES.

NO.15
(=iTRERE]
Explain the concept of Insight learning [Zd%253]

Chimpanzee can't get the bananas which linked to the top of its cage, after
thinking, he moves boxes below the bananas, and get them.

Conclusion: animals will find the solution after thinking.
Question : BT DRI F SRR HX MESHIIERE,

NO.16

BEHEEH T —1 fundamental XXX error , IE—MRIEAIRNCIET , RIEFEFEERS. ..
MERAMMITEREMARRHER , MEATFAXNANEISEERREE , AXEEIIN
HNERER 1. RIS EEEREIRVEUE S 7B SRYBIFRIRIIX ML . Rt EIRES I —
2, IBET 10 o8, AEHigftba 7 NEE , EREWNTERERRE 7, IREEME
BEHTET MHRERER. SR T BRI —FHAE IR IXOR SR EE]
ZER , JUAETRSWEE | Rk 7Rl , £ FRiRBEEERE T | siiExXA
BARHEISELT , 2B CE intentionally cooperative BY... FRLAEIR B4 , A
EbEZs 5 blame for personality

NO.17

[ZiF##RE] : friend affiliation ( BHKIJA/E ) refers to the people’ s desire to be a
member of a certain group, | &7 make advisement by using people’ s affiliation
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BRfGE | —2FFE positive effect , BIEGSr-mAILAIENN affiliation , TEAR
2ZB3K2E. —2FBH negative i% , tNRARIAY brand F=EEtaskZE affiliation,

(HuE241] : A— NI AEHL— ad campaign , AIERMAE | —FHE
£—" happy party & , everybody #B drink the same kind of #r brand A3 soda , #B{R
happy. The soda becomes a very important thing in this situation, 5852 some
young people are watching a football game in a stadium , 282 one of them drink a
wrong brand of soda , then all the people become quite and FIZFIEAYER# look at
him , and leave him alone , even his best friend left him, Then he realized he made
a big mistake to drink the wrong kind soda, X2ZM negative AFILMAREIRIXME
FH9 soda, [AEUREE AL reading passage RIS,

NO.18
e 2R AHiEREIR B CremltECAIE AR EH A,

BIF - BB A BREN , BRINVOIERERRAT . BERETLEIMNEGE. &
ToEEREEL A RYFRY B hERsk | FTRSE | (BERAIMELREE CHY A EILLE. FrLAEL
RARBEEENE A BT ER5Rk.

Consumer lock-in: A company makes a customer dependent on
a vendor for products and services, unable to use another vendor without
substantial switching costs.

Example: The professor had a Brand-A camera but the zoom lens was broken. He
saw a Brand-B zoom lens which was less expensive and actually might be of better
quality, but it couldn’ t fit his camera so he ended up having to buy the zoom lens
from Brand-A which cost more.

i8R :
NO.1
Reading:

Reactance: AMiJEBREMBECH freedom. EIEZE SHYT/ limited and BEAZR
by some rules and regulations Bf , AIZA XX FRHI. %2 adults and
children’ s behavior are results of the urge to E3X freedom. “Reactance”
indicates people’ s desire to reestablish freedom and break away from(E{AfiF4H
A2 break away from , (BERE—Z) the control.

Listening:
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FEMBIFETLALSIIE reactance B9EIS: 1. Imagine a child, who used to play very happily
on the playground, having a lot of fun, {B238%AB—X his parents don’ t allow
him to play on that playground again, /NZ&REEMR upset, FE(th< sneak to the
playground and play despite his parents’ rule. 2. A town recently ban on a kind of
soap because it" s harmful to the environment. (BEEX{ ban FHREME(K the
soap’ s ability to clean things. FILL AMiJ&REIAR upset , ” why can’ t I choose any
type of soaps that I want?” EItb AfiJ& attempt to buy a large number of this kind
of soaps, a lot more than they used to do, RE town PRIt IExX4=E,

NO.2

TSI T BRI AR ZE great tripZaxxx.f 5 waterfall £G4 natural museum.
EBA...

NO.3

LR note BT , BRINERBARE , BASIR ER—HRORGRUERERS , B2
(VE-STaPd)

NO.4

TEEREFRMARIE | T2MEEFRIMLR | B EIERE , IR AS IR
RiRAtER | RIEWREH , (BRXNSLIERIE EFARER | SRIREIFER , X
BIRERMEEFH=T

NO.5

SrIBEITR , EAEFERII—TIRBLNA | AKS | AZRZITIERRIR | FRER
iR B CEE R T Msolutions , —NRIREGEE , A, (BRB EETEEERIL
RMHAR  “RRIZREE  BESRUEELEMI IRT , JE=I1AST

NO.6

—MHEEXTF industry cluster tBEERiIRE— T EFTFENXE, REXELFIIRE
B9 industry cluster RiZBBEXMEIAABMNA 1 HEBSFLAEES 2 BEXKA
A E FLABMEE R TERFEERK BERASREEEE AREEHMELLR
HRIT D EEEEHR 7 HARER EAFREREN.

NO.7

Mary Z3EZE Jack EEIRERA. B Jack &7 , 9T FIEBA&Z Art Exposition. ZE&BSLYF
T, GBI Mary R8F , Mary REEREMA |, 1RE Mary |, Jack HESEESRAHMBA.,
EIHVIR
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NO.8
[1/0MER]) - RBELESRE.
(2 MEE] (1] BREEREESE BttE—T IRIFE . BEYTIINAZES A time

—conflict.
(2] BBEREHNARMERZSANE , TLAERS— 30 DHERENFEZFT , Bt mE

.

WRA—
BF 7 toothache IFEIERERMRIEET E BN —LFEZ SUCHERIRIbIAR, E /9
ZREBTIBN T EEFAME T BIEE ARG A IAESAE B2 RMEEENE

FFEE 30 DR MYSEER (BEILEET_ERYIEIR b AEET (BB OB S EAYF)
=

Ro

NO.9
— MM BIUESHIRESSEAY presentation topic FIBIAET!
JEBIRT 2 NMEI

1) IBSFIE, B EEORRE, B MM SERI8L1ES—NE unhappy,
[EAY make the class boring

2) NERR, FIRETENARSIAFINESR, EeILA learn new knowledge [ERd
A LAERE L teach other students. MM i B 2—FAHIREIS EbIFERRY EX T F
AR FEREFENRE B CARESGHANER. thEFFEE—T.

& H: Describe the two possible solutions offered by the man and your own
choice and reasons.

NO.10

B, LFELFASET. ERMAKER , geEF XY, RERARIKAE, &
FHEFRSO LIS | ELCEAI, FESD ?

NO.11

TEEAR , ASRRIRMEAMAZSHATREER , RIER. B NMERDE , —
BER—RR  —RTRR—WX , EBRERRKERN—F. EEE—HUEE/ LD
R . eIERBRERET.

The female student is the director of a play, and there are many characters, §tZ843
T—IX audition, but most players are beginners with little acting skill.

Solution:
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1 hold another audition, 3% more skilled actor, but it can make the actors who
have already taken this audition feel insulted, and they will feel that they are not
good enough.

2 switch to another play written by the same playwright, which only calls for half of
the number of the current characters. but she had been working on this play,
Preparing for a new play calls for a month, but now it has only two weeks, they
have to start over.

NO.12

[ZFEFRME) : BAAETE coffee house 34 poetry reading, 1B2 coffee house HAHR
H—NE, —HETHPARE | IV NTEEIEARR.

(RS E]  LERTHNEN :

1. ikAT 10 MREZRIEFIE  FTHTRBIE (BERIRe6EFREFrIsE% disappointed;
2. iBiEatbM coffee house 2! lecture hall, BIEJRTLARIK , (BRARIRER | 1IHE
TEIZHIEH , LERERE.

[[)7&] : Briefly summarize the problem and two possible solutions. Then state
which solution you recommend and explain why.

NO.13

Conversation: Jackie, the girl in this dialog, worried about the research course with
a biology professor. She likes the course and wants to get involved. However, the
deadline to register the course in this semester passed last week. She only have
two options:

Wait until fall semester to register this course. But the fall course will be very boring
and the one this semester is more interesting for her.

Fill out a special permission form to register a course after the deadline. But she
needs to pay 75 dollars late registration fee for it. This is not much money but she
thinks there is not many money to spare this semester.

NO.14
gap analysis.

There is a difference between what a firm wants to perform and how it actually
performs. Gap analysis is to identify this gap. There are two steps to gap analysis.
One, identify the gap. For example, in a grocery store there is always a long line.
There is a gap between how the store wants their customers to be satisfied and
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how they are annoying customers by making them wait long lines. To close the gap,
which is the second step, the store should hire more cashiers during rush hours.

245 gap analysis IR ML,
NO.15

FEAKBRELZZNSHIRE TN , FFEIRFEEHEET | #1557, ERTIFRENH
T

IEEIEAMIERE 10X , FIBSRERFHF RO EHEINGHEA |, EEMA20
ILRZFAIEEANEE—#R. 2.BB7EHIE  EATEHERPIREEMRE TFT |, B
BIRTAE , MSE(IBHERE | ES T{E—LAd(A,

NO.16
(FERME]  TERREAEIER PIF R RIERAET .
(ERF5ZE]
FE L EREILER T |, FEERRT LR T,
HE 2 BRZALBSH , FEUFRS.
NO.17
Problem: ZH—MZEREMITEIE, HEMERSS, HEITEIRA
SOLUTION:

1)Formal Complain, NiZRMERISEFIEERE, SBRITR, BERKTET,
i BRI HERRR

NO.18

[ZERME] | TEEERFRBRA—PPINS KT outdoor music festival , weather
forecast ZNMHERATRES TR , WEIBUEIIZINEIZATE T,

[fRRAR] BERMNEN —. postpone E NER. (BRLAERIERAIFAERBA student

band players @B ALELE | I FERIgEGEM plan 7. =, BUXDNER W
AKX shower , EMFHIT , BABHER T—<™W , REERHFHN , XEHRES &4
BHEARFRERIEIME TRMAEKRET. MEEOEMAXE | A ERENENS
NERZEZ. FH# , FENE  WEAXRSRE , —MNEESHKEIRN , BAELEHR
NEI,
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OiESE7 /4 :
NO.1

PR G AR BRI PRATEMANGET AR RIS, MR ESL
1 , BfBactorfRpowerful,larger. Queen of England(?? 7i&% 1) #iRATXMFER,
FEREREER. NSQEELA , B8actorfRsmall, B, A man lost in desertf;
FTIXFFER, fII KBdeserttt , XN AREERETE , Rhopeless,

NO.2

6.Two situations of price inelastic

Normally, if the price goes up the demand will goes down, because people don’ t
want to buy products when they become more expensive. But there’ s also a
situation when the demand stays the same when price goes up. It' s called price
inelastic.

Two situations of price inelastic:

1)When the products are necessary. Though price goes up, consumers still buy
them because they need them.

For example, the electricity, even if the electricity company raises the price of
electricity, people still purchase it because it' s necessary and people need
electricity for electric appliance like lights.

2)When the company has a strong brand loyalty. The customers will continue
buying them even if the company raises price.

For example, the blue jeans, customers are loyal to the brand so even though the
price goes up, they continue to buy it because they feel comfortable to buy blue
jeans. Use the examples in the lecture to explain two situations of price inelastic.

NO.3

PSR

LART early human beings 2% hunt wild animal for meat , {82X# 10000 FEFiFHA
It ( domesticate ) control animals. The domestication of animals B1EZ benefits ,
TEHAIFRE—T : 1. The domestication of animals will provide consistent and
reliable source of meat. Early people X£3T3& , BAI$I5Z! , {H often TARZEE , il
animal FESIHATLABERIBEAIZAY , 27 goat LUFEAIFIF | ILFERREHYIHLAsMH.

Goats can be easily controlled and can be organized by the heard and move with
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the people, FEIIX4 source FEH reliable, 2. The domestication of animals will
supply a variety of food other than meat. XZ 7 LLIFEAIFIF , goats produce milk.
People can collect milk and drink. Also people can process milk and make it into
yoghurt and cheese.

NO.4

NMA—TERSSIARITNEERIE | F—RENE MTAK | SEBiRE@INES | #E
TN, FREAETF YTRERE  MIEAIR

NO.5

publicity 833 advertising RILR , —REEE . LN BEERMRE LARYE
ter&EE  —RUEEES | BIESINREA T EBIGR , WLEESHES |
BT &

NO.6

Wetland BIFAEFAL - 1. AILMERZHIRHMERBGATK | EALERYE , STLARK. 2. ATLAE
SR,

NO.7
(HEEERR]

FFRAME T carbon dioxide B95=.

[#8XHF] —F2 in factory , T — process ; 5—#2 out of factory FiEE]
FREFREZ,

NO.8
HEEH: [ EREEFA S H4EMARM emotions SE(EHREE,
S—#5=X: Produce positive emotions

eg: —#f shampoo &, — baby FHiX## shampoo, 5154F#H, the smiling face
relax the mother B, JUELREI IS EERAXTR shampoo 1B S E=fE S EtRAY

F 5 Produce negative emotions

eg: —> man A car 7EFX broke down 7, {iRBFH RFERFAMTRIELFAREE
[THTEEIESKED. MIARE 2#i%& worry about themselves, they don’ t even want to
imagine how terrible the situation is, ZAIFECHHEREL T7."
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NO.9

R FTRESIIRRE. F—RETIMYERER , T HIRERSIURSERES. 5
TRENMERRSFENESY  LINER  XEREERFRENEE.

The professor says that the temperature in city is higher than that in rural places.
And there are two reasons. First, there are too many machines in the city, and they
are concentrated in one place, and they release heat into the air. the example is car,
it eat gasoline and produce heat into the air. Second, many cities are covered with
some dark surfaces, and there are many roads and streets, and most of them are
made of concrete, so it can absorb the heat from the sun in the daytime, and emit
heat into the air all the time.

NO.10
Lecture: Business Class — Way to best use employees

The job rotation is the way to best use of employees for a company. The prof. gave

two reasons and examples.

The employees can help out at where they are most needed because they have
been trained at different roles. For example, at a clothing store, the sales person
will be rotated from shoes, children clothing and other divisions. When shoes
division needs help in busy time, any other employees from rotation program will
be able to help out at shoes division.

When promoted to be managers, they will have better understanding of the
business and big picture. For example, at a clothing store, if an employee is
promoted from rotation program to be a manager, he will be very familiar with all
the business because of his rotation experiences. Therefore, she can better lead
with her thorough understandings.

NO.11
BA—MIEIT50. HRBAIFMZAIR Tit4HEE.

I 7 IXFIS A AR NAE 1L BRHEABELERRRISS R TRE. Bl , BBFr=miEis |
mEkT  RT 1 EHTRE  RIETRSE™M, MEET , F-KKT  BEENRT 2
IRAS , TRRBBELERT 2. BHAALFT. M 2R TZ2EENRS. ERTIARS
ILHRIBELN , SR TFARERA , BEr sz,

NO.12

[HFEZE ] :Archeologists use different ways to decide the places where they
should dig for findings.
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1. Surface feature of the land. E.g. New Zealand. It has a typical structure. High
land?

2. Plant: certain plants grow in certain places. E.g. Banana nuts tree were
planted in Central American. These trees continue reproduction. So
archeologists find the place which has banana nuts tree to dig.

NO.13

Social Cooperation F¥IRIEENTH L)EEHE, —MNHRIRHREEIEMITIEMN, LA
ERME, —FAHRRIRHR LR, IRERER )2 NE. ERIAeRIUSEERSES
IFEYER, SARDEER.

NO.14

BREMEAGRIPES RETHEIZE — 1 2IBESFMN physically difficult to chew or
eat , FFIRBLERREL , A—WFEHMATEEENS | LWRER , SRR RSICEER
HFG , MABRIZET . B NNEMERINRRBFIN . WERMTAEY | s
ENEIF RN FL |, XENRBCEREETLUIZE | (E2EIRINRED TEEE
BT , AFER—MF LT ATLUXMEYRY M F it T M NE GRS |

BIESIASE |, FBAREIRETRT

NO.15

B EERN S LRI EE IS

LS5 X ; 2. (REK

The professor talks about two ways alpine plants adapt to the harsh environment.
The first is by keeping the plants short. Because of high wind, the plants only grow
a few centimeters so that they don’ t break. The second is to save water by having
wax skin, because the solil is very dry on high mountains.

NO.16

Hsurvey®75i% , o AR |, —Fh Estatistical, 5 —Fh 2 administrative, statistical

survey:select a

small group of people and ask them some questions.use the answers to guess the
number of the general public. EX ABEMRIEE , BREFEE/IMIE. FHEE
DNENE, WA , K817 , B /9this would change daily and depends on
the different situations.administrative survey , HiZZ6. E— 1M KZ2FAEESZ D
professor@# sciencef(BEscitBXREI RMprof) , [A—MZR | BHMERKHMALIEE!
AR T .
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NO.17

Itis a lecture in product marketing class. #i#%ini 7 product marketing FIBRIZIZE
WEE, AEIRT traditional marketing B975% , B2 RNEE | iILEERS|
Ao BB REBXEF , MEBAHAATR. X T — alternative approach for
marketing. 17— NEESREGIF. XTMERADEH— AR cereal (B3%).
£ marketing RIEHER , AEIRBIEREMIVEERES | RMEMH boring, IRBE¥ | iR
BEFR , RE—EIE cereal , XHERMERSIEY  HEHEERIF. [IRERHURANH

FERBE what is alternative approach for marketing.

NO.18

{REB{EERY strategy :

(1)i%3Z rewards program , £5FTiFFO(LER , b4 : 3E 10 N=BEIAIE—MRERN=BEA

(2)product design, RERIFFREECERF , LU0 : BFIEEA SRS AT ERR
REECER
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